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APPENDIX 1 (a)

Showing computation for » and t of H-5 form for total sample (N 6¢
B1l-N

rxvy = — [NEXy - (@X) (£v)]

j [1\1’2}(2 - (Z};)g]&in - (EY?%

_ 60(48363) ~ (278) (-2132)
.j [60c270a21) - (278)7] [60(s31632) - (-2132)7]

3494476
~ 21010722

o

0.16632

i M-, - Mg

—

2
\/GM;L * aMgg = 2rollysll,

(2.21) = (=35.53)
Jm 7646 + 126.6319 - 2(0.168) (8.6464) (11.257)

_ _37.74

’ 162.0996

_ B7.74
T 13.004

= 24903



Bg‘s

XY — [wsxy - (x) (Y3
J [wex® - @x2] [y - (£7)2]

60(3239) = (-108) (1288)
J [so(78952) ~ (-106)Z] [60(119946) - (1288)%]

—

_ 330868
= B11542%

= 0064:7

t _ M1 - Mg

2
ou” + ol - 2romou,

k‘n

- (=176) = (21.47)

e

218791 + 25.6380 = 2(0.0647) (4.6776) (5.0636)

2323
44,4522

|



1_3_3-:[

ey - ey - (20 )l

—

\[ [wec- o[- nf]

) 60(2507) = (~186) (~1709)
J[60(95726') - (-186)2] [60(140818) - (1709)%]

_ =167454
T 56686862.24
= 000295
. = 5
o'Ml tolly - 21'ch1ch2 .

_ (=3:10) ~ (~28.48)
\[’2,6430 + 25.5940 - 2(0.0295) (2.6430) (25.5940)

- 538

= i et W

| e8.7222

_ _25.38
= 5.3501

i1

44736



54' D

v = oy - @x) @il
j [vex? - @] [ wmy? - (@v)?

_ 60(166223) ~ (1577) (3391)
= . _ = ‘ =
f[m(zososlj.- (1577) ] [60(378135) - (3391)]

4625773
T 10575515428
t _ Mj - MQ '
2 2
jch toly” - 2reM, ol

(16.98) = (56.51)
j46.2728 + 51.8019 - (0.878) (6.8023) (7.1972)

—
.

39.23

i 55.3838 =

39.23 R
~ 74418

png

= 5.272



XY NSXY - GX) (Z¥)

\/ [wex® - x)?] [Nzy - 7]

_ 60(62695) - (7863 (~1694).

j [e0(243368) - (786)%] [60(a54222) - (-1694)2]

_ 2430216
~ 18463407.30

i

0.132

t M, =My

J oy ® 4 oS - 2ral, oMy

(29.76) = (=-28.23)
\[ 644742 ¥ 112.88 - 2(0 132) (8. 0451) (20.625)

57.99

\[ 1565 .056

5799
= 12.45T
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F, -5

XY - [zxy_-_(zx) (zv)]
J [vex® - z0°] [mey° - 1)

60(60893) - (507) (-1940)
| [eotzag0s0) - (507)7] [e0(363869) - (-1940)7]

=

4637160
16256291.78

i1

i1

0028

My = Mo

2 2 ..
\/aml + GM2 ~ 2reM UM2

1

(1071) - (‘84 030)
\j67-712 + 83.650 - 2(0.028) (8.2347) {9.1460)

36401

L114.164

I—
686

&
[&)]
*

O

I
ot
o



APPENDIX 1 (b)
Showing computation for r and t of H-8 form for boys (N 32)

By - N

XY hnzxy - (330 () :

f [re - @0?] [vev? - )]

32(43619) - (-161) (-857)
\f [532(141249) - (-161)%] [32(316899) - (857)%] .

_ 1257831
6501728

19

1

- 2 2
- O 51
\[ 61\111 + G M2 "’MMI 1:12

_ (=5.03) = (~28.78)
JlB’?.lé?é b 987.0581 ~ 2(+19) (11.71) (16.94)

z
I

21.75__

/ 348 .8259

21.75
= I8.67

= 1.16 B



Soraniy
-
 aS]

Be-S

[,

S e - ¢x) @y]
J vex® - @0?] [wx? - 5]

- 32(8612) - (78) (578)
'j [22(43106) - (78)2] [32(61888) - (578)7]

. 230500
T 1499245.5
= 0.15
= = >
J oM 4 dmg - ZraMlo"Mg

_ (2.43) - (18.08)
J 41,9100 + 49.9491 - 2(.15) (6.47) (7.07)

_15.63

{ 78 1362 )

15463
8.84




B3 - 1.,

o - foxy - _Gx) &)l

J [¥5x2 - =x00°] [wee® - (iY)g]

- 32(14370) - (286) (-1059)°
J [32(44902) - (-286)2] [32(89199) - (-1059)2]

156966
= T532379.8

= 0,10

Ml - Mg

tao ],\}I 2X'o’M16‘Mz

Z\

(~8.°3T - (~33.09)
41.3534) ¥ 52.8835) - 2(0.10) (6. 43) (7.27)

L-

24.16

? 84 .8877

24.16
= 32‘1

- 2.62



BJ—D

XY Gizxy - (o0 (zv)]

J [vx® - €x0%] Fw® - )7

32(108108) = (1047) {(2088)
J[gz(ll'?z’?sa) - (1047>2J @2(219546) - (2068)?]

. _1819340
T 3572291.00

iz 0450

t - N.[l - M2

2 2
\/O’Ml + 0’]3/{2 - ZIU'MIO’ME

) (32.71) - (64.62)
Jsz.ovse + 146.9985 - 2(.50) (9.00) (12.12)

- _31.91

1318.9951 N -

3191
10.91

— 2083



175

Fl - C

— fvexy - x)-zyil

I[ND( - <zx)2] [wey® - @v)?]

32(79549) - 562(~723)°
\/ [32(183478) - (562) ] [32(265577) - (-723)?]

_ 2139949
6054098.9

= 0,35

Ml - Mz

2
j CSM t0o Mg 21"0'1\/116]\/12

_ (17.56) = (=22.50)
\/140.2421 + 243.4001 - 2(.35) (11.82) (15.60)

40.06 -

/ 254.3494

O

s
(@
o

I
s
ol
(%)

= 2$5I



oy = [osxy - (0 syl
S 2 e
me*zxg - &) [e® - @]

_ 32(3530) - (188) - (-841)
Jﬁ[§2(59o7o) - (158)2] [32(73269) - (-841)%]

- 245838
T I7467343.7

T -
" . M, - Mg

L,

2 2 .

~ (14.93) - (-26.28)
J 56,9237 + 49,9184 ~ 2(.014) (7.54) (7.07)

- 31.21

—

?105.8495 : ;

31,21
10.26

3.04

]
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-
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APPENDIX 1 {c¢)

Showing computstion for r and t of H-5 form for girls (¥ 28)
By - N

tmians ——————

[wexy - (£x) v

e = 5 2
J [Nzxz - x9%] [nx® - (7]
- 28(4744) - (294) (-1275)
J [28(129192) - (29492] [28(214733), (-1275)% ]
_ 507682
= 3935718
] -12
. M, - Mg

P 2 ] ’
+ -
j ‘ml dMg 2rs MldMg

(10.60) - {-45,53)

—

56.03

317.6579

_ 56.03
= 17.82

il

= 3.14
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=Y = [wexy —2¢zx3,€§y§] -
\IEﬁYXZ - (ZX)© Ny - {gY)

- 28 (=5373) = (~184) (716)
\j[}B(35846) - (184)°] [28(58360) - (710)%]

_ -19804
331042

= 0.059

_ MmN

\j o ® + ou® - erewpoug

_ ‘ (=6.57) - (25.35)
j 44,1796 + 514750 = 2(=.059) {(6.65) (7.17)

. _31.92

101.2808

i
o

1.92
10.06

3.17

N



v sy - ex) eyl

\[B;zx - o007 [my® - an’]

28(~11863) - (100) (-650)
J [eacoeze) - (100)2] [e8(61617) - (~650)°]

_. 267164
~ 1349668

= +19

- ‘ 1\62

ol 2 ¢ crmz - 2reloM;

(1
(3.87) = (-23.227)

\[ 63,6822 + 59,3466 - 2(.19) {7.98) (7.70)

| _26.78

2 ©9.6793




rXy

ey -(ix)(zyﬁ]

j [mx? - @x)%] [nsv® - @)?]

28(568115) - (530) (1323)
\[ [ 28(%0762) - (530)%] )338(1585893 - (1823)°]

_ 926030
= 5465956

= .37

_ My =M

2 4 2 -
\{ 6M1 + O'Ibag 2:*61\:;16M2

_ (18.90) - (47.25)

{102.9718 t 122.8475 - 2(.37) (10.14) (11.07)

- _28.35

i 142.4544

28.35 ,
11.93

1/

= 2.38



[
oD
| ST

i)
L]
(@]

[vexy - () &)

XY = 5 >
J [NZK - (ZX)J E\Tz‘yz - ('zyj)z]
- 28(-16854) - (.224) (.971)
, [28(189890) - (1224)%] [28(188645) - (-972)7]
= 116592
~ 4060678
= .17
. ~ Moo=
B 2 2
J OMy +OW, "= 2roljol R

(4:3-71) - ("'340 68)

173.9588 + 197.6685 - 2(.17) (13.19) (14.08)

—

78«39

g 30845738

— 7839
T I7.57

—

= 4‘.046



FE -3
— A [y - (%) (vl

J [e® - @x?] [ird® - @nf]

_ 28(-18656) ~ (-55) (-1217)

JE28(945713 - (~55)2] [28(98292) - @n17)”]

589303
— 18335¢4

= 032

-

2 2 S
f oy ” # OUy” - Erela

_ (=1.96) = (~43.46)

J120.4885 + 57,9030 - 2(.32) (10-983 (7.61)

= 45442

f 194.9145

_ 45.492
= 11.18

= 4.06

182
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APFENDIX 1 (4)

Showing computations for t of sex differences on 'Honest' form
B - F Boys : 32
Girls: 28

" B Mo

2 2
‘j 6M1 + GMZ

- (=5.08) - (10.50)

PU—

.j 137.1474 + 160 .8489

15.53

( 297.9956°

_ 15.53
17.262

= 00899

My - Mo

f)

2 2
j oy + ‘MZ

= (2.43) - (-605‘73

‘J 41.2100 + 44,1796

9,00 _

’ 86.0896

I



I}

2 2
f o‘Ml + 51&42

(=8,93) = (3.57)

‘j 47.3534 + 63.6822

_12.50

/ 105.0356

_ 12.50
= 10.243

- Ng
2 2
J ch + GMZ

(32471) = (18.90)

\[81.0766 + 102.9718

__13.8L

184.0484

_ 13.81
= 13.566

braweds



- _(17.56) - (43.71)

J 140.2491 4 173.9588

_ __26.15
{ 314.2009
_ 26.15
17.758
= 1.475
F. =8
R
M
B 5 S
J oM~ + ol

(4.93) - (1.98)
J 56.9237 + 1904885

6.89

A ————————
o

[ 177.4122
_ _6.89
= 13.310

bl
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APFENDIX 1 (e)

Showing computation for t of sex difference on socisl desirability
: Tespo

Boys : 32

Girls: 28

B, -~ N
_ -

J6M2 + oy °
7 2

= _ (=26.78) = (=45.53)
J 987.0581 + 100 +8405

18.75

{ 486.8936

_ 18.75
T 22.068
= 0,849
5 -0
. | W o-u
j@Mlz toliy”

~ (18.06) = (25.35)

o

J 49,9491 4+ 51.4750

_ _7.29

} 101 .424]

_ _7.29
= 162070

= 0,723



oM + oM

(=33.09) = (-23.21)

—

52.8835 + 52.3466

£

2.88

f112.2301

— _92.88
~ 10,546

L —

(64.62) - (47.25)
146.9985 + 122.5475

~J
K

’269.5460

_ 17.37_
T 16.417

—
—

=1.058

-2



F1=‘C

I

= 5 >
g + G
f Ml 1\!12

— (=22.50) = (-34.88)

J 243.4001 + 197.6685

_ _12.18

f 441.0686

_ 12.18
- 21.001

pany 00579

Jou® + o,
(=26.98) = (-43.46)

J 49.9184 + 57.9030

2

17.18

{ 107.8214




